o) rl=(l = 118
kel _
D))= (1 p2 (11R18~12A108)
x 12 DABIFREELEFE T IIESHHDOETT
s/ =
INHSEE-ZE [1185]
B o HEE LEER
MEE AN
SHE#H) E‘BBE-SOSOE B73-6868
| se@ | E A R|[E R % & 1R e B 5 = B
_B628030 | =/2:2028 e 4 49z | 11A18:27A0K) SEREAEEART (1R154B)
na@E |B. R Kk ( DAESRR | T E~FH5I159 & ®62-7853
xz?l:sg-??gﬂ 112773-%2 8;)% 115168 (&) o phd
o R bt FI7IU—ER = = Cdirid AHNEE MEE—
188 (®) | “pé22046 | “&787177 T B 8 B ryom-re .f‘EEm;&:?%GEimg
| B_E & k| 7IEURBESE =Ehi SRS mee]ls
R| 23B@E®) "asp 3080 | “&795751 DE e | 1A16AGER) Mt 5 — ok
= B R E|JYEUERS PR R OB~ O B #2EiiH#S 878-8988
258 (8) | "gep.3030 5722200 .| 118168 ®) REE>5— 15
T B T M B raom-aai 1many | BFCORTEOTER
B -
FHINR IAZDCHDINE N ==L i3 amm
" 51 OB~ FacE B maF2 SR B23-3661
BB | G FRoRIE VK5 115148 60 P A5~
- o 4 — [ B73-
B | epRues (Goksnnn) = e .
frep | mhanmn, | FEES T
7 — "1 B 1188 ~E; R
AR HDINE " | semBosTHREC @ 3228822
/ = i sEEpmEpaR | 5 O Ehnanamnea
118 58(A) gagg’?ﬁéﬁ*éi'ha i T s a60s
BE - AZH - B - E50A WA IR, (AR | S et . (10,5000, 16579)
e T ron-TF | RERARRERNEET
T = . HERR . ] =K 19K~ A BT H
&Y - =rb - @R HrE *ERB M rg 1w rgamsos [ B026-234-5123

HiFDINE

118 1H(R) e
128 6B (K) | FR BES - REK
11R15H(K) | ELR#X = B H Z 3% & =
s ESEEapLE, = 1181-15-29H (K) M AR—Y IS TH%E ~ s
TR ]E(?jﬁ@* ZOM IS0 511 OB~ OV [Fh=8) mEe>y
128 6H(K) mL R }éggaag(i;E(W) ?ﬁﬁil:ﬁ—‘yaij“g%q SEETE (SR
11AI5AGN) | A8 - B4 - BiK 3] OB~ DARIE| ALy FHE= -
11A8-228 (X) Miiiﬁ—;%iéL;%% ARt 5—
R OB~ v \
> = D =
KIEEEIGKEE L SSExE 11589-30H (&) WK —Y 55 TR BR 5 —
j: . E 5 *Eagg E R 7H~F %8309 FLILAR—YFT—
R S E = %7305~ =
B & — ~ 5 —3 R
3B | UEYIoKS | 625391 LIAISR@FE | AT—LL 2 AR HREY5—
48 (B) E T B X & 62-2421 118178 (%) R BTAA S HEES
N[0 | & B & = | 622093 FRIBE305~ BIAE i — a1 TP R i
1) | WA BT ® | 642649 12868 () AR —Y 55 7% REYY—
17B(H) | F# O @ ® | 653213 P OB~ YO [FAER
18H(H) | = & T % | 62078 AeR10B(R) BRI ERH mRtEY5—
A 23HE )| kR A& & T Fi 62-2065 ) A Py R N
ag(D) | = @ = @& | 627004 B £EFER H2FER 862-2400 [W62-6483
25H(H) | EH#SIRME 62-3253
TS £ 1217
RIS 2EE SR E LSS
11ABH (X)) - 13H (X)) -20H (X) -27H (X) H 5] 7 B 4 = 5
1284H (X) 11A118(8) 2530/ Ry —
F50F 159 ~F & 70 FHIOR30D~F1L 105 ELRHIIEERE

2012.11 ®E# A5 C &

18



